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Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attemptany ONE from (A) and ONE from (B) in about 150 words each: [16]

A) 1) What is the importance of water conservation and utilization
according to C. V. Raman? Describe the methods suggested by
him.

i)  What did Kalam learn from his father about the power of prayer?

B) 1) Discuss the points of difference between the advertising profession
and other professions.

i)  What was the disaster that struck the photograph in ‘The Gold
Frame’? How did Datta react to it?

Q2) Attempt any ONE from (A) and ONE from (B) in about 150 words each:[16]

A) 1)  Why did Ivan Dmitritch and his wife grow resentful towards each
other as the story progresses?

i) How does Derozio want to revive the lost cultural heritage of the
country?
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B) 1) What does a person feel when he/she gives away a pound note as
described in Money- Madness?

i)  Write aten line dialogue on the following situation:

Sales-representative of a mobile phone company is selling a newly
launched phone to a customer.

Q3) Attempt any ONE from (A) and ONE from (B) in about 150 words each:[16]
A) 1) Describe the achievement of Indira Nooyi as the CEO of PepsiCo.

i)  What prospects has globalization driven by technology brought to
India according to Murthy?

B) 1) Whatis ‘toasted English’ according to R. K. Narayan?

i)  Consider Indira Nooyi as a role model for people who want to join
the world of finance.

Q4) Attempt any One from (A) and One from (B) in about 150 words each: [16]

A) 1)  Describe the relationship between Kamala and Gopalam in the story,
“The Woodrose’.

i)  Comment on Rakesh’s devotion to his father.

B) 1) What are the main ideas expressed by the poet in ‘Stopping by
Woods on a Snowy Evening’?

i)  What does the poet ask for in her prayer in “The Soul’s Prayer’?

Q5) A) Attempt any One out of the following: [8]
i)  Write aletter to your friend inviting him for your brother’s wedding.

i)  Write a brief newspaper report of two short paragraphs on the
following headline:

Girls Out-shined Boys in S.S.C. Results
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B) Attemptany One of the following: [8]

)

i)

[4963]-1001

Thereisavacancy in Jain Irrigation Pvt. Ltd. Jalgaon for a Marketing
Representative. Write your resume for the post.

Write an email letter to the Chief Examination Officer of your college
enquiring him/her about the schedule of the Term-End examination.
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Instructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.
Use of calculator is allowed.

1)
2)
3)

Q1) A)

B)

State whether the following statements are True or False (Any Five): [5]

)

i)

Vi)

Vi)

When goods are transferred from one department to other, the debit
Is given to transferor department.

In amalgamation of firms, if assets are not taken over by new firm,
they are transferred to Partners’ Capital Accounts in their capital
ratio.

Interest is always calculated on hire purchase price.
Royalty is payable for using both tangible and intangible assets.

Under Piecemeal Distribution, assets are realized gradually and
payments are made gradually.

Accounting standards provides a frame work for preparation of
Financial Statements.

Proportionate Capital Method is also known as Notional Loss
Method.

Fill in the blanks by selecting proper word/s form the brackets (Any
Five) : [5]

)

Salary to Works Manager is apportioned on the basis of

a) timedevoted b) equally c) efficiency.
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ii)

Vi)

[4963]-1002

Royalty Account is in the nature of
a) Personal Account

b) Real Account

c) Nominal Account.

The deficiency of insolvent partner is transferred to solvent partners
capital account in their

a) profitsharing ratio

b) capital ratio

C) gainRatio

Accounting Standard 9 Stands for
a) valuation of inventory

b) depreciation Accounting

C) revenue recognition

Amalgamation is merger of two or more firms of type of
business.

a) small
b) different
c) similar

Difference between hire purchase price and cash price is called as

a) down payment

b) instalment

C) interest
Government Taxes are treated as creditors.
a) preferential b) secured c) unsecured



Q2)

C) Write short notes (Any Two) : [14]
I)  Distinguish between Hire Purchase System and Instalment System.
i)  Objectives of Departmental Accounting.
ii)  Methods of Purchase Consideration.
Iv) Accounting Standard I - Disclosure of Accounting Policies.

Ravi, Kiran and Bhanu are partners sharing profits and losses in the ratio of
2:2:1 respectively decided to dissolve the partnership on 31 March, 2015 on
which date their balance sheet was as follows :

Balance Sheet as on 31t March, 2015.

Liabilities Amount Assets Amount
Rs. Rs.

Capital Accounts Cash 16,200
Ravi 1,14,000 Sundry Assets 2,83,800
Kiran 72,000
Bhanu 54,000
Bhanu's Loan
Account 15,000
S. Creditors 45,000

3,00,000 3,00,000

The assets were realized in instalments and payment was made in due order of
payment. Creditors were paid Rs. 43,500/- in full settlement of their claim.
Expenses on realization were estimated to be Rs. 8,100/- but actual amount
spent on this was Rs. 6,000/- only on 30" June, 2015.

Assets were realized as follows -

On 30" April, 2015  Rs. 37,800/-
On 31 May, 2015  Rs. 90,000/-
On 30" June 2015 Rs. 1,20,000/-

Prepare statement showing surplus capital and statement showing piecemeal
distribution of cash. [14]

[4963]-1002 3



OR

A & B were partners sharing profits in the ratio of 3:2 where as C & D were
equal partners. The two firms decided to amalgamate on 3I** March, 2015
when the Balance Sheets of the two firms were as follows :

Balance sheet as on 31 March, 2015

Liabilities A&B C&D Assets A&B C&D
Rs. Rs. Rs. Rs.

Capital Accounts Building 60,000  ------
A 80,000  ---—--- Plant &
B 70,000  ---—-- Machinery | 80,000 20,000
C 60,000 Stock 40,000( 52,000
D 20,000 S. Debtors| 20,000| 30,000
Reserve Fund 24,000 8,000 Cash 10,000| 14,000
S. Creditors 30,000 | 16,000 Goodwill | = ------- 20,000
BillsPayable |  ------- 30,000
Outstanding
Rent 6,000 2,000

2,10,000 | 1,36,000 2,10,0001,36,000

Following are the terms of amalgamation.
)  Before amalgamation both firms should discharged outstanding rent
i)  The building was valued at Rs. 80,000/-

i)  Goodwill of A & B was valued at Rs.50,000/- and that of C & D at Rs.
30,000/-

Iv) The stock of A & B valued at Rs. 38,000/- and that of C & D was valued
at Rs. 53,500/-

v)  The plant and machinery of A & B was valued at Rs, 88,000/- and that
of. C & D was not taken over by the new firm which Mr. C agreed to
take over for Rs. 18,000/-

vi) A reserve of 5% on debtors was necessary for bad debts of both firms.

Prepare Revaluation Accounts, Partners Capital Accounts in the books of old
firms and Balance sheet of new amalgamated firm. [14]
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Q3) A) Jay Limited was formed to acquire the business of R and T who share
profits and losses in the ratio of 3:1 respectively. The Balance Sheet of R
and T was as follows :

Balance Sheetof Rand T

Liabilities Amount Assets Amount

Rs. Rs.

R's Capital Account | 1,28,000 | Land and Building 80,000

T's Capital Account 80,000 | Plantand Machinery | 40,000

Mrs. R's Loan Account 6,400 | Stock 48,000
S. Creditors 43,200 | S. Debtors 46,400
Bills Payable 34,400 | Bills Receivables 32,800
Investments 9,600

Cash in Hand 19,200

Goodwill 16,000

2,92,000 2,92,000

It was agreed by the company to take over all the assets (excluding cash
and investments) at book values with exception of Land & Building and
Stock which are taken over at Rs. 1,00,000/- and Rs. 50,000/-
respectively. The Investments are retained by the firm and sold for Rs.
8,000/-. They also discharged Mrs. R’s Loan. The Company takes over
the remaining liabilities. Goodwill valued at Rs. 30,000/-

To discharge purchase consideration, Jay Limited issued 25,000 Equity
Shares of Rs. 10/- each, Rs. 8/- paid up per share and balance in cash.

Draw-up
i)  Statement of Purchase Consideration,

i)  Realisation Account. [8]
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B) On 1% January, 2012 Mr. Ram a patentees of a new type of gas-burner,
issued a license to Gasline Co for the manufacture and sale of burners
for 10 years on the following terms

)  Gasline Co. to pay a royalty of Rs. 100/- for every burner sold
subject to minimum rent of Rs.1 50,000/- per annum,

i)  Shortworking could be recouped only within two years following
year in which the shortworking occur.

i) Payment to be made on 31% December every year.
The number of Burners sold was as follows

Year ended 31 December,2012 900 Nos

Year ended 31 December, 2013 1,300 Nos.

Year ended 31% December, 2014 2,000 Nos.

Year ended 31% December, 2015 1,600 Nos.

Pass necessary journal entries in the books of Gasline Co.for the above
four years. [14]

Q4) Mr. Santosh purchased a Motor Van for Rs. 4,20,000/-. Payment is made as
Rs. 1,00,000/- down and four instalments of Rs. 1,00,000/- each at the end of
each year. Interest is charged at 10% per annum. Mr. Santosh depreciates the
Van at 10% per annum on written down value method.

Prepare Motor Van Account, Hire Vendor Account, Profit and Loss Account
in the books of Mr. Santosh and Mr. Santosh Account in the books of Hire
Vendor. Also show the working of Interest calculation. [20]

OR
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Trial Balance of Departmental Stores for the year ended 31 March, 2015.

Debit Balances Amount Credit Balances Amount
Rs. Rs.
Opening Stock Capital Account 2,00,000
Department X 1,20,000 S. Creditors 60,000
DepartmentY 90,000 Sales
Purchases Department X 3,00,000
Department X 1,60,000 Department Y 2,80,000
DepartmentY 1,40,000 Bills Payable 6,000
Carriage Inwards Discount Received 6,000
Department X 4,000
Department Y 2,400
Plant and Machinery
Department X 20,000
Department Y 16,000
Salaries 60,000
Carriage Outward 11,600
Office Expenses 10,000
Legal Charges 5,500
Advertisement 14,500
S. Debtors 45,000
Cash in Hand 12,200
Bills Receivables 15,000
Drawings 20,000
Buildings 60,000
Selling Expenses 5,800
Rent and Taxes 40,000
8,52,000 8,52,000
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Additional Information -

I)  Closing Stock on 31% March, 2015 Department X Rs. 1,40,000/- and
Department Y Rs. 1,20,000/-

i)  Salaries and Office Expenses to be allocated in the ratio of 7 : 3

i)  Area of Building is occupied in the ratio of 3 : 2

Iv) Depreciate Building at 5% and Plant and Machinery at 10% per annum

v)  Goods worth Rs. 15,000/- transferred from Department - X to
Department - Y.

Prepare Departmental Trading, Profit and Loss Account, General Profit and
Loss Account for Year ended 31% March, 2015 and Balance Sheet as on that
date. [20]
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Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q1) Critically examine the law of variable proportions. [16]

02) Define Indifference curve. Explain the characteristics of Indifference curve.[16]
OR

Define Business Economics. Explain in detail the scope of Business Economics.

03) Answer in brief. [16]
a) State the features of Monopoly.
b) State the Innovation theory of profit.
OR
Answer in brief.
a) Explain the concept of Backward sloping supply curve of labour.

b) Explain the Modern Theory of Rent.

04) What are the features of Monopolistic competition? Explain the equilibrium
of the firm under monopolistic competition. [16]

PTO.



05) Write short notes (any two) : [16]
a) Concept of TR, AR and MR.
b) Features of Oligopoly.
c) Motives of liquidity preference

d) Collective Bargaining.
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Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of logarithmic tables and calculator is allowed.
4)  Both sections should be written in the same answer book.

SECTION -1

Q1) A) Answer the following Multiple Choice questions by selecting the correct
option (Any four) : [4]

i) H.C.F. of 3,5 and 8 is

a) 120 b) 5

c) 1 d) None of these
i) Ifa’xa*=a"thenx=

a) 2/4 b) 6

c) 8 d) None of these

i) Ifx:y=2:5andx=10theny=

a) 25 b) 20
c) 23 d) 50
iv) 39% of is 195.
a) 400 b) 500
c) 485 d) None of these

PTO.



A and B equally invested ¥ 50,000 in the business for 10 months

and 12 months respectively. The profit sharing ratio of A and B will
be

a) 1:2 b) 1:1

c) 5:6 d 2:1
vi) The fourth proportion to 4, 6, 10 is
a) 12 b) 16
c) 15 d) 20
B) Answer the following Multiple Choice questions by selecting the correct
option (Any two) : [4]
i) L.C.M. of 50, 80 and 100 is .
a) 40 b) 230
c) 400 d) None of these
i) I (%)ZX+l _ (%)”2 then x = .
a) 1 b) 4
c) O d -1
i) A, Band C invested % 50,000, ¥ 40,000 and % 30,000 in a business.
If they realized a net profit of ¥ 2,400. Then C will get %
a) 1,000 b) 600
c) 800 d) 1,800
02) Attempt any two of the following : [8]

a) Find the Simple Interest on ¥ 6,000 at 7% p.a. for 10 months.
b) Find the Compound Interest on ¥ 12,000 at 9% p.a. for 12 months.

c) A person invested ¥ 7,000 in 8% shares at ¥ 140. How much dividend
will he get?

03) Attempt any four of the following : [16]

a) Define the term Statistics. Explain its scope in Industry.

b) Explain Stratified Random Sampling Method.

c) Following is the distribution of marks of students in a class.

Marks 0-19 20-39 | 40-59 | 60-79 | 80-99

No. of Students 20 24 36 22 17

[4963]-1004



i)  Find the class mark of 2™ class.
ii)  Find the class width of 3™ class.
iii) State the class boundaries of 4 class.

iv) Find the number of students who got first class.
(Marks more than or equal to 60).

d) From the following information, find Mode graphically.

Monthly income
('000%) 0-5 5-10 10-15 15-20 | 20-25
No. of families 10 14 20 16 9

e) Find Median for the following frequency distribution.
Age (years) 30-40 | 40-50 | 50-60 | 60-70 | 70-80

No. of policy 21 29 38 30 20
holders

f)  Calculate Mean and Median for the data given below :
14,17,12, 13, 10, 15, 20, 18.

SECTION - 11

04) Attempt any three of the following : [12]

a) A person buys a Motor Cycle for ¥ 50,000 and sells it at a loss of 20%.
What is the selling price of the Motor Cycle?

b) A Commission agent gets 10% commission upto sale of ¥ 50,000 and
13% on the sale exceeding ¥ 50,000. In a month his sales are ¥ 75,000.
Find his Commission.

c) Explain the steps for formulation of L.P.P.
d) Solve the following L.P.P. by Graphical Method.

Maximize Z = 30X+ 20y
Subjectto:  10x+ 6y <1000
5x+ 4y <600

X,y=>0
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05) Attempt any three of the following : [12]

a)
b)

c)

d)

Explain the concept of Marked Price and Commission.

If the Cost price of an Article is ¥ 50,000. What should be the Marked
Price in order to earn 25% profit after giving 5% discount?

By selling a flat at¥ 40,00,000 a trader losses 8%. At what price it should
be sold to gain 15%.

A manufacturer makes two types of Toys A and B which require cutter
and finisher treatment. Toy A requires 2 Hours of cutter and 1 Hour of
finisher time. Toy B requires 1 Hour of cutter and 2 Hours of finisher
time. The cutter has 104 Hours and finisher has 70 Hours of available
time each month. Profit of one Toy A is ¥ 6 and on one Toy B is ¥ 11.
Formulate the problem as L.P.P. to maximize the profit.

06) Attempt any four of the following : [16]

a)

b)

From the following data, calculate Fisher's price Index Number.

Commodity Year 2010 Year 2014

Price Quantity Price Quantity

Wheat 28 6 40 8
Rice 22 5 30 6

Jowar 17 4 28 5
Gram 25 2 34 3

Following is a data of ranks given by two experts to the participants in a
Singing Competition. Calculate Spearman's Rank Correlation Coeftficient.

Participant Ranks by Judge A | Ranks by Judge B
A 5 6
B 1 1
C 3 4
D 2 2
E 7 7
F 6 5
G 4 3
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c) Calculate Standard Deviation for the following data.

Class

0-10

10-20

20-30 | 30

-40 | 40-50

Frequency

8

12

20

14 10

d) Explain the concept of Correlation with example.

e) Information of Marks obtained by the students in 12" Commerce in 2
colleges is given below.

College A College B
Mean marks 65 62
Standard Deviation of marks 15 18

Students from which college are more consistent in scoring marks?

f)  Calculate Range and Coefficient of Range for the following data.

Shop No.

1

2 3

4 5

6 7 3

Daily sales (%)

940

860 | 900

690 | 700

950 |800 | 740

07) Attempt any one of the following :

[8]

a) Find Karl Pearson's coefficient of correlation between Sales and Expenses.

Sales (Lakhs%) | 56 [ 60 [64 | 65 | 65 | 60 [ 60 [ 50
Expenses
(Lakhs ) 14 |15 |14 [ 15 [ 16 [ 12 | 15 | 10
b) 1)  Giventhe following data.
Advertisement Sales
Cost (Lakh %) (Lakh?)
Mean 12 40
S.D. 5 8
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The correlation coefficient between Advertisement cost and
sales 1s 0.70. Estimate the sales when Advertisement cost is ¥ 15

Lakh.

Discuss various problems in the costruction of Index Numbers.[4]
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Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Both sections should be written in same answer-books.

SECTION -1

Q1) Attempt any four of the following : [4 x2=8]
a) Define computer.
b) What is operating system?
c) List the windows features.
d) What are the components of MS-word? Screen?
e) Define Network.
f)  What is mean by Data Processing?

02) Attempt any four of the following : [4 X 4 =16]
a) Explain the generation of computers.
b) Explain objectives of operating system.
c) Whatis the elementary work in MS-word? Explain it.
d) What are the components of Network?
e) Write a short note on sequential file organization.

f)  Write short on paint.
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03) Attempt any four of the following : [4 x 4 =16]

a) Explain various Hardware parts of computer.
b) Explain types of operating system.
c) What are the computer applications in various fields of commerce?
d)  Write short note on MS-Excel.
e) Explain types of computer Network.
f)  What are the uses of powerpoint?
SECTION - 11
04) Attempt any four of following : [4 x 2 =8]
a)  What are the uses of Internet?
b) Define Electronic Data Interchange (EDI).
c) Whatis mean by Electronic Payment System?
d) How does HTML works?
e) Whatis Dynamic Web Pages?
f)  What are the types of domain name.
05) Attempt any four of following : [4 x 4=16]
a) Explain Advantages & Disadvantages of Internet.
b) What are the merits & Demerits of of EDI?
c) Explain types of Electronic Payment System.
d) Explain common HTML Tags.
e) Write down the steps to build the web sites.
f)  Explain Hub in network.
06) Attempt any four of following : [4 x 4 =16]
a) Explain Internet Privacy & Ethical issues.
b) Explain the popular search engines.
c) Explain basic architecture of EDI E-Commerce.
d) Explain working of Digital Signature.
e) Explain HTML page structure.
f)  Define the following terms.

i)  Web page
i) Web site
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OFFICE MANAGEMENT
Organisational Skills Development
(2013 Pattern)

Time : 3Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define Office Manager. Explain qualification and skills of an office manager.[16]

Q2) Define modern office. Explain the various factors of Good Ambience. [16]
OR

Define office organisation. Explain the functions of office Administrator.[16]

Q3) a) State the importance of ideal filing system. [8]
b) Explain the advantages of digitalization of Records. [8]
OR
a) State web based applications used in office activities. [8]
b) State the advantages of office forms. [8]

Q4) Define the term 'Office Communication'. Explain channels of communication.
[16]

P.T.O.



Q5) Write short notes (any two) : [16]
a)  Scope of public relations.
b) Objectives of public relations.
c) Types of vouchers.

d) Inventory statement.
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g) wyAEmh u=ek (Inventory Statement)
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Total No. of Questions : 5] SEAT No. :

P1022 [Total No. of Pages : 4
[4963]-1007
F.Y.B.Com.
BANKING AND FINANCE
Fundamental of Banking
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) State the meaning of Bank. Explain the evolution of banking in Asia. [16]

02) Explain the types of Individual and Institutional account holders. [16]
OR

Explain the methods of remittances. [16]

03) a) Explain the characteristics of Promissory note. [8]

b) Explain the principle of liquidity and profitability. [8]
OR

a) Explain the types of cheques. [8]

b) Explain the Balance sheet of a commercial bank. [8]

04) State the types of modern Technology in Banking. [16]

PTO.



05) Write short notes (any two) :

a)
b)
c)
d)

Types of Crossing.
Multiple credit creation.

Types of endorsement.

Importance of technology in banking.

[4963]-1007 2

[16]



Total No. of Questions : 5]

P1022

[4963]-1007
F.Y.B.Com.

Seh SATHE 0T foageast
(h T o)
(2013 UeH)

(TSt TUTR)

gez : 3 ardf
gaar :— 1) @ 97 Gislavl Sravasd Sigd.

2) IHiSier e qui qur FIfEAr.
3) @gulaisl ges U TvAlAHT TgTEl.

[ 7o 707 : 80

97 1)

797 2)

97 3)

97 4)

woher 319 |, SR S T IShidl T8 .

AT TordAeh ATMUT EEATeH WTAERe JhR T8 .
fRen
T8 Trefivareat utedt TUE w1,

) TEH U AR T .

F) AL AT AT A TAY HAL
feha

) YA TR TIY .

F) SAUR Seha AlEg TIE HA.

Feh SHIEETAA SR TAAT ThR ERT.

[16]

[16]

[16]

[8]
[8]

8]
8]

[16]



g7 5)  fem ferm. (STt €M) [16]
) TEHAT™ THR
F) FgaY TatEd
F) USBHAT™ TRR
) ok HAHETHA dAAT HEed
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Total No. of Questions : 4] SEAT No.

P1023 [Total No. of Pages : 4
[4963]-1008
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Neat diagrams must be drawn wherever necessary.
3) Use of map stencils is allowed.

Q1) Answer the following upto 20 words each. (Any Ten) [20]
)  Name any two approaches to study Commercial Geography.
i)  What is Natural Environment?

i)  State any two Quaternary Activities.

Iv) State two characteristics of coniferous forest.

v)  What is Solar Energy?

vi) Defined 'Under Population'.

vii) Mention any two Industrial Regions in India.

vii) State any two advantages of water Transportation.
iX) What is Tourism?

X)  State any two types of Graphs.

xi) State any two Hill Station in India

xii) Define Trade.

xiil) What is Population Density?

P.T.O.



Q2) Answer the following upto 50 words each. (Any Two) [10]
I)  Regional Approach.
i)  Shifting Cultivation.
i) Isoplath Method.

Iv) Indian Foreign Trade.

Q3) Answer the following upto 150 words each (any two) : [20]
I)  Explainthe factors of Natural Environment.
i)  Give the Geographical Account of Equatorial Forest.
i)  Explain the detail major Industrial Regions in India.

Iv) Give an account of Geographical factors influencing Tourism.

Q4) Answer the following upto 300 words each. (Any Two) [30]
I)  Explain the Nature and Scope of Commercial Geography.
i)  Explain the main types of Farming.
i) Compare Various Modes of Transport.

Iv) Explain the factors affecting the Industrial Location.

[4963]-1008 2



Total No. of Questions : 4]

P1023
[4963]-1008
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)
(TSt EUTeR)
Je : 3 am| [ @ggor 7707 : 80
gedr ;- 1)  §d T97 qiSfau savas S,
2) oTEvEE dd GAF HTHAT FHIEl.
3) AN RfHew arruarE waErTit .
g7 1)  Ereitet gAren IRt 20 vregia 3w forgt. (SRt g@n) [20]

Xi)
Xii)

xiii)

ST SFCATS VTR 3 ¥ YETh T,
Jafiier vaiaruT TEU T ?

el TR HOHE G T .

TR 311 FEUS S ?

A ARHEAH! SATE foTgl.
WRATAIE IV & Siteifien fremmh 7w
T AR 3 WIS T

T TgUTS R ?
TGS THIVIAE G THR AR
SR s ot
FAIHETIT TaT TEUTS Rl ?



y7 2)  Wieitel gl SRt 50 vregra SR forgl. (v 2) [10]
) SRR ST uLadt
i)  eercTda I
iii) e Y aead

ivV) wRaren faew =R

v7 3) e SeEEn Ykt 150 e S ot (SRiuTEt g) [20]
) S UHTaRUT e T &I
i) Frgeraia s it e .
iii) AT S sief SR we TR .
iV) UieATeR iUy SRUTR HRNfeTes Tew T8 .

gy 4)  @reler e Tkt 300 et S ot (v 3m) [30]
) T e TRy Sl ST e W
i) Ve T TRR T w0
iii)  ATEIH THR gEATHS fagewoT .
iV)  SeimerETean TenfAeheRRuTeR TRUTY SUTR Ueeh T8 .
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Total No. of Questions : 4] SEAT No.

P1024

[Total No. of Pages : 4
[4963]-1009
F.Y. B.Com.

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization and Management in India
(2013 Pattern)

Time : 3Hours] [Max. Marks : 80
Instructions to the candidates:

1) All the questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) : [20]
I)  Write any two functions of Defence Management.
i)  Define Logistics.

i)  What do you mean by counter Intelligence?
Iv) State the meaning of integrated defence.

v)  Write any two functions of civil defence.
vi) Writany two functions of Artillery.

vii) Define air- power.

viii) Define Grand strategy.

IX) What is Perspectives planning?

X)  Define Defence Mechanism.

xi)  Write any two functions of Territorial Army.
xii) Write any two roles of combat branches.
xiil) Write any two duties of signal crops.

P.T.O.



Q2) Answer in 50 words each (any two) : [10]

i)  Explainlimitations of intelligence.
i)  Discuss functions of Border security force.
i)  Explain limitations of coast guard.
Iv) Discuss characteristics of artillery.
Q3) Answer in 150 words each (any two) : [20]
1)  Write in brief Role of Indian Navy during war.
i)  Explain various types of Aircrafts in Indian Air-Force.
i) Discuss powers of President in relation to the Armed forces.
Iv) Explain the role of Central Reserve Police Force in National Defence.
Q4) Answer in 300 words each (any two) : [30]
I)  Explainin details development of the Indian army after independence.
i)  Discuss relations between parliament and the armed forces.
i)  Explain functions of administrative services during war.
Iv) Describe roles of engineers during war.

[4963]-1009 2



Total No. of Questions : 4]

P1024
[4963]-1009
F.Y. B.Com.
fetra e wEAFa sig s
YRATAE FREAUT TS U1 SATEATIA
(2013 Pattern)
(A0S TUTR)
3% : 3 ]

gar :— 1) @d 997 qigfau sTavasd iied.
2) SRSl 37k IUT gUftaard.

[wor 77 - 80

97 1) 20 vregia IW . (UL F7)
)  EREIUT SASEATIATE SRIVTAE G hid THE .
i) TRaS! AR S .
i)  FTIrER TEICITE U & ?
iv) snrRe fewa = sid foran.
V) AR’ R g wE ot
Vi) eGSR g e fore.
vii) “gars umed” sawe = .
Vi) “Jice el sarEEn .
iX) TrUSIeE AT U R ?
X) feta Hehfagm sawen <=
Xi) YRR A<l RO I w forar.
Xii) TS R <RIV S e T .
i) fereen s ol e e fon

[20]



97 2)

97 3)

uvq 4)

50 yrs3T IW T (0T 2H) [10]
) SicTiTrea Haier T .

ii) e e qeTen R = .

iil)  TERETeRgeTea Wallql T8 .

V) dRETHEeTeE ATEeETEd v .

150 vregT I 2. (R 3H) [20]
)  geIwTeTict WRd Higeme it amer g forar.

i) YR gaE e fafay o TR e w0

iil) AV AAIEeTTe Hawia Tgddiea stfeenrETaa == .

V) Wi SRl e Tt UieliageTs YiHeht T .

400 vregma W forgn. (FomE 3) [30]
)  TEEEHER WA SISl STeTe Rt Ao T8 .

i)  EE B STfUT HEE AT SETETEa i w.

iii)  geachTETCT woTEhTE SR wE T .

V) gearder sffRerten wffee! ol .
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Total No. of Questions : 5] SEAT No.

P1025 [Total No. of Pages : 4
[4963]-1010
F.Y. B.Com.
CO-OPERATION
(2013 Pattern)

Time : 3Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Describe in detail the principles of Co-operation. [16]
Q2) Explain the Meaning. Concept and Objectives of Co-operation. [16]
OR

Describe the history of Indian Co-operative Movement.

Q3) a) Evaluate the co-operative Education and Training Programme in India.[8]
b) State the problems of Co-operative Education in India. [8]
OR
a)  Write a note on Federation of Co-operatives in India.

b) Explain the strength of Co-operative Movement in India.

Q4) Describe various types of Co-operatives in India. [16]

P.T.O.



Q5) Write short notes (any two) :

3)
b)
c)
d)

Role of Central Government and Co-operative Movement.

Maharashtra State Co-operative Federation.
Weaker section Co-operatives.

All India Rural Credit Survey Committee.

[4963]-1010 2
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Total No. of Questions : 5]

P1025

Je : 3 amd|

[4963]-1010
F.Y. B.Com.
CO-OPERATION
(2013 Pattern)

(TS EUTR)

geqr :— 1)  @d ¥ |isfau sravas sied.

2) ITEIREIT 3k T9TE QUi U7 Feitaara.
3) Wewfardt g TS T9AUlEHT UgTal.

[ g 7o7 - 80

797 1)

797 2)

797 3)

57 4)

TR deaie Hioeat JUT .

TghNE e, ehequn 311{oT 3B T8 w0,
e
WRATAA Ugehi Tbacsiea Sfagare aui .

)  ARATHA TgeRit freror enfur ufsteror wEisEHTe YeomTaa .

) WA gl eroTean TR |mm.
feha

) HRATIS T Tgehil GEATeR E forgt.

F) WRATHA ghNl TBacal FTeTea TIE .

WRATAI Egehi g fafay g 9ot &.

[16]

[16]

[8]
[8]

[16]



gg75)  enge R fomn. (vt am)
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Total No. of Questions : 5] SEAT No.

P1026 [Total No. of Pages : 4
[4963]-1011
F.Y. B.Com.
MANAGERIAL ECONOMICS
(2013 Pattern)

Time : 3Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) State and explain scope and characteristics of Managerial Economics. [16]

Q2) Explain determinants of Demand. [16]
OR

Explain various methods of measurement of Price Elasticity of Demand.[16]

Q3) a) Explain methods of demand forecasting. [8]
b) Explain law of Demand. [8]
OR
a)  Explain law of supply. [8]
b) Explain usefulness of capital budgeting. [8]

Q4) Explain the role played by MNCS in development in Indian Economy. [16]

P.T.O.



Q5) Write short notes (any two) :

3)
b)
c)
d)

Income elasticity of Demand.
Limitations a cost-benefit analysis.

Law a return to scale.

Explansion and Investment decisions.

[4963]-1011 2
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Total No. of Questions : 5]

P1026
[4963]-1011
F.Y. B.Com.
HIEATIRT AT
(2013 Pattern)
(AU EUTR)
Je : 3 @] [ @ggor 7707 : 80

AT :— 1)  @d g9 avas HTEd.
2) ITEIREIT 37k T9TA QUi U7 Fvitaara.

gy 1) AT v ST @ afvresr @ a feve . [16]
o7 2)  uwmwi Rl gew fove w0 [16]
feren

aRTUTR foha Sratuehar aoaTen fafaer ueesdt favre w0 [16]
gy93) ) HER eI utedt faveg . [8]
F)  wEien feaw fee w [8]
fepen
) g e fave . [8]
F) HISTATH HETH SUFAAT TAE Hl. [8]

e 4) R ieeedean o Sgusia AEE e Yiwent g . [16]



g7 5) g few forar. (ivrerd 3)
31) WU I Aarerehdl
) T - favesaTe mate
&) ufaweren fem
3) fowam snfon s fot
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Total No. of Questions : 5] SEAT No.

P1027 [Total No. of Pages : 2
[4963]-1012
F.Y. B.Com.
ESSENTIALS OF E-COMMERCE
(2013 Pattern)

Time : 3Hours] [Max. Marks : 80

Instructions to the candidate:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3) Give illustrations wherever necessary.

Q1) Define E-commerce. Explain features and functions of E-commerce. [16]

Q2) Explain uses of Electronic Data Interchange. Discuss various types of EDI.[16]
OR

What is mean by E-payment? Discuss various transactions through internet.

Q3) a) Whatis Digital Economy? Explain characteristics of digital economy.[8]
b) Explainthe following terms : [8]
)  Direct marketing
i)  E-banking
OR
a)  Distinguish between market place v/s market space.

b)  Write a short note on Internet Security.

P.T.O.



Q4) Explain E-commerce in India. What are the Legal, Social and Ethical Issues
of E-commerce. [16]

Q5) Short notes (any two) : [16]
a) Mobile Commerce
b) BZC E- Commerce
c) Domain Name System

d) Online Booking for Entertainment industry

[4963]-1012 2



Total No. of Questions : 5] SEAT No.

P1028 [Total No. of Pages : 4
[4963]-1013
F.Y. B.Com.
INSURANCE & TRANSPORT
(2013 Pattern)

Time : 3Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the Scope and Importance of Insurance. [16]
Q2) Explain the need of Life Insurance in detail. [16]
OR

Explain the various Modes of Transport.

Q3) a) Explain the need of Social Security. [8]
b) Importance of Logistics in Insurance. [8]
OR

a)  Explain the role of tourist guide.

b) Explain the Solutions of Problems of Indian Transport.

Q4) What is mean by Tourism? Explain the scope of Tourism in India. [16]

P.T.O.



Q5) Write short notes (any two) :

3)
b)
c)
d)

Types of Business Risk.

Essential factors of Insurance Contract.

Careers in Insurance Business.

Tourism Promotion in India.

[4963]-1013 2
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Total No. of Questions : 5]

P1028
[4963]-1013
F.Y. B.Com.
form anifot aE®
(2013 Pattern)
(TSt EUTR)
Je : 3 @] [ @ggor 7707 : 80
geqr ;- 1) §d g9 @istan sravas sied.
2) SR siek gut quT FoifaaT.
gy 1) Toramh wmd snfor ngea wose @ [16]
g7 2) oA forarh W g %, [16]
fehan
eI [afay AeHrR T &
gg73) ) IR GRiAdEl TR T . [8]
) wREIE o dgca T . [8]
feha
¥) e unievieRTel e T .
F) R ATEhIeA TSR 3UT 9.
g7 4) U TEUR R ? WRATAA JeATeN SaTdt T8 . [16]



ge75)  fem foran. (v €M) [16]
3) SAEERIS ARG Tk
7) o R savasE Hew
%) fom s SRl (Hel)
g) WRATA g geh
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Total No. of Questions : 5] SEAT No. :

P1029
[4963]-1014

F.Y. B.Com.

[Total No. of Pages : 4

MARKETING AND SALESMANSHIP MANAGEMENT

Fundamentals of Marketing
(2013 Pattern)

Time : 3 Hours]

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Describe briefly various functions of marketing.

Q2) State the classification of market.

OR

Explain the factors determining Buyers Behaviour.

Q3) a) State the factors affecting market promotion mix?
b) State the significance of services in marketing.
OR
a)  What are the factors affecting pricing decisions?

b) State the types of marketing channels.

04) Describe various types of Advertising media.

[Max. Marks : 80

[16]

[16]

[16]

8]
8]

8]
8]

[16]

PTO.



05) Write notes (any two) : [16]
a) Rural marketing.
b) Product life cycle.
c¢) Role of services in Economy.

d) Supply chain management.

[4963]-1014 2



Total No. of Questions : 5]

P1029
[4963]-1014
F.Y. B.Com.
MARKETING AND SALESMANSHIP MANAGEMENT

Fundamentals of Marketing
(2013 Pattern)

(AU TaTR)

ges : 3 argf [Tz 77 - 80
o :— 1) & T97 @SIA0 SHEvad Higd.
2) ITHIHSIT 3k TPATR QU JUT FEIEATA.

3) @gulais? ges U GvAalAHT TgTEl.

go7 1) Tourrh fafay wrt afoes fowe w0, [16]
gg72)  SISIRUST SRTTeRUT |, [16]
fepan

TRfeERT T SRR Teh TE &1 [16]
gy73) ) Toska gk MER URuTH HOTR 9 |R . [8]
¥) Qo e wgea ai. [8]
fepen
1) fohma STeRRUTSR UfuTd SFRUTR ek HIvT ? [8]
@) oo At weRR @i, [8]

g7 4) g fafay wmeem fawe w0 [16]



g7 5)  fem ferm. (STt €M)
ar)  ymior faoum
q) A SiEd <R
F) rTaEda Aar YiHe
g) YOI HrEd! SHaEUTH

[4963]-1014 4
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Total No. of Questions : 5] SEAT No. :

P1030 [Total No. of Pages : 4
[4963]-1015
F.Y. B.Com.

CONSUMER PROTECTION AND BUSINESS ETHICS
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Whatis consumerism? Give a detailed description on development of consumer
Movement in India. [16]

02) State the section 18 under food safety and standards Act, 2006. [16]
OR

State the scope and features of Consumer Protection Act, 1986.

03) a) Explain the general principles of United Nations Guidelines for Consumer
Protection. [8]

b)  Write a note on Ethics in Intellectual Property, Knowledge and skills.[8]
OR
a) Explain the Nature of Business Ethics. [8]

b) Explain the provision in Right to information Act, 2005 under section -
18. 8]

04) Explain in detail the business ethics and environmental issues in India and at
International Levels. [16]

PTO.



05) Write short notes (any two) :

a)
b)
c)
d)

Social Responsibility of Business.
Green Initiative.

Ethics in Production.

Challenges before Voluntary Consumer Organisation.

[4963]-1015 2
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Total No. of Questions : 5]

P1030
[4963]-1015
F.Y. B.Com.
UTEeh TRETUT ATUT AR HAfrded
(2013 UeH)
(TSt FATR)
ge - 3 ardf [TzuT 7797 - 80

o .~ 1) &F T97 QSIA0 Eavasd .

2) ITHIHSIT 3k TPATR QU JUT FEIEAT.
3) Teuiaadt ge suS gvTaieT ugTE.

797 1)

97 2)

97 3)

97 4)

YTEHATE U h1d ? HRATA UTgeh Tobae Iea ferehramen Afee SAteren =.[16]

JTTGRET ATUT Wk hraet, 2006 Aeftet e 18 =i wifge |, [16]
fehan

UTgeh TRETUT T, 1986 <t =amet & afvrsst T & [16]

) T TZHETEN MTgeh TREUIETade AT qodl T8 &l [8]

F)  difeqen QUG FH 9 hived T Afaged aier 2u forar. [8]
fehan

)  wEmEEEe Hifdea ey WE w0, [8]

q) IR AR TG, 2005 A et — 18 A STHUTAT TgE! T .
[8]

A SATMUT ATk UTASIAI ST Hfaqed 0T GHierui Hag Ao g
w0, [16]



gg75) fewan. (wRureardl 2F)
HA) ATEEEI GHISTER e

¥) gla geER
®)  SedTEAT Hifaged
) I UTgeh TS ATegH

[4963]-1015 4
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Total No. of Questions : 5] SEAT No. :

P1031 [Total No. of Pages : 4
[4963] - 1016

F.Y. B.Com.
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is Unemployment? Describe in detail the causes and remedies of
Unemployment. [16]

02) What do you mean by Preventing the Pollution ? Explain in detail the remedies
of preventing the pollution. [16]

OR

Define the term Business Environment. Explain in detail the types of Business
Environment.

03) a) Write a detail note on Maharashtra Centre for Entrepreneurship
Development. [8]

b)  Write a detail note on District Industries Center (DIC). [8]

OR
a)  Write anote on Entrepreneurial Behaviour.

b) Explain the role of Entrepreneurship.

PTO.



Q4) Describe Entrepreneurial career of Dr. Cyruas Poonawala.

05) Write short notes : (Any Two)

a)
b)
c)
d)

Narayan R. Murthy
Non - Government Organisations (NGOs)
Entrepreneur as a catalyst

Dynamics of motivation.

R R

[4963] - 1016 2
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Total No. of Questions : 5]

P1031
[4963] - 1016
F.Y. B.Com.
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern)
(TSt Faiar)
Fe. 3 a1 |
e :- 1) @F T97 AISIA0 HTq99% ST

2) STAIBSIT ek Ty GUf U7 YA,
3) #erarst ge s gvT - laer ggrE.

[ gpor 77or: 80

97 1) SRR TEUT ST ? SIS ShiRoT STTTUT SUTErEii=T |feraiaot quiq o1, [16]

Ty 2) Tguut fAE=ur AuTEn S e srefete gt ? Wgwur e s

wierEaqur Tt . [16]
fehar
SHTIETRIR TATENUT T Gt SATEAT oM. SATTATR TR0 ThR HieEaiqor
forore =,
gy 3) A) UERTE eIkt faw™ g (MCED) amer wfeem da forgr. [8]
7) freg s@m &g (DIC) arr wiem & fergr. 8]
e

) ST TAvL TTeR 9 forgr.
) ISRl {HeRT TIE *.



97 4) Si. W YATATeT Aol IR hR{haa qui . [16]

gy 5) feur forgn. (wivremst 2). [16]
) AR FRHA
) form ymeeh wwen (NGOs)
%) IAWH - Th IONE

) IRUT I

W R
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Total No. of Questions :5] SEAT No.

P1032 [Total No. of Pages : 4
[4963] - 1017

F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE

(2013 Pattern)
Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Distinguish between Proprietary and Partnership firm. [16]

Q2) a) Whatis Franchising? What are the advantages of Franchising? [8]
b) Define Joint Venture? Describe the limitations of Joint Venture. [8]
OR
a)  Explain the main recommendations of Malhotra Committee.

b) Describe the challenges before Public Sector Undertakings in India.

Q3) Define the term Ethics? Describe the importance of Ethics in Business. [16]

OR
What is SEBI? Describe the role of SEBI in protecting the interest of the
Investors.
Q4) State the meaning of following terms. (Any 8) [16]

a) Automation
b) B.P.O.

c) Brand Equity
d) LS.

P.T.O.



e) Zero Base Budgeting
f)  Hacking

g) Fringe Benefits

h)  Logistic

I)  Subsidy

) Yellow Page

Q5) Write short notes : (Any Two) [16]
a)  Working of Commodity Exchanges
b) Role of SEBI
c) Corporate Social Responsibility

d) Ethics in Accounts and Finance

*® B M

[4963] - 1017 2



Total No. of Questions : 5]

P1032
[4963] - 1017
F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE
(2013 Pattern)
(WSt TUTER)
de5. 3 a1 | [Tepor 7o7 . 80

geqT ;- 1)  §d 999 | snavasd ol
2) STHIREI 3TThe F¥ATA UT 7T g9IfaIard.

9T 1) TEUTTRIT STEETE 9 ATER saeaETa arasfiel e TUY . [16]
9T 2) ) WETSTAT TEUR T ? WETsinTe WiEe 9T . [8]
) TYF HgH AN U A ? HYFd ATgATSAT HATQr e w4 [8]

e

) HogHl HUA gea Hrersht e =,
F) WRATAA ATaHIeh QTR SATeg Ui .

gy 3) Hfrm= a1 @ ST . FaErEmed e Hged i . [16]
feRan
el TgUN T ? [AAU[eh SR TEaeael 8707 ShivaTHed el SHIhT Jui ahl.

w7 4) aeher e et fore (ST 8) [16]
)  eAvemEyE
q) sftdr. e,
®) o gl

g) IHALTH. A



3) 3w switen
w) F

T) TR sadre
7) AR

) aaruEt

q) T U

go7 5) feur fergr. (swtoradt EF). [16]
) TEGIAEE FTARTEN HTE gegdt

)  wet =it yffewt
%) U TS AaTEgr
g) Teona emfor fom wewidier Hidwmr
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Total No. of Questions : 5] SEAT No. :

P1033

Time : 3 Hours]

[Total No. of Pages :2
[4963] - 1018

F.Y.B. Com.
ADDITIONAL ENGLISH
(2013 Pattern) (Regular)
Textbook: GEMS OF
ENGLISH PROSE AND
POETRY
Edited by: Ashok Chaskar
Vijay Madge
Anand Kulkarni
[Max. Marks :60

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any one from (A) and One from (B) in about 100 words each: [12]

A) )
if)
B) )
if)

Why does Shiva say that the 'grow more wheat' package is not
suitable for Indian farmers? What solutions does she offer?

How does Wordsworth establish his attitude towards the nature in
The worlds is too much with Us?

Discuss the humour in the poem, The Fortune - Teller.

What problems do rapidly growing cities face according to Legum?
What steps need to be taken to solve them?

02) Attempt any One from (A) and One from (B) in about 100 words each: [12]

A) i)
ii)
B) 1)
ii)

Draw up a character sketch of the narrator in My Financial Career.
What is the central idea of the poem. 'The Road Not Taken'?
Bring out the significance of good manners in life with Hill's views
in mind.

Comment on the universality of the poem. Where the Mind is without
Fear.



03) Attempt any One from (A) and One from (B) in about 100 words each: [12]

A)

B)

i)

What are the two instances of good Indian films that Ray cites?
Why does he think them praiseworthy?

Comment on the use of 'silence and tears' at the beginning and at
the end of the poem. When We Too Parted.

What progress have the African Americans made in a hundred years
after the abolition of slavery according to king?

How does Walt whitman describe God?

04) Attempt any One from (A) and One from (B) in about 100 words each: [12]

A)

B)

05) A)

B)

i)  Examine Aruna Roy's evaluation of the life of the poor, the depressed
and the underprivileged in India.
ii) Comment on the imagery in the poem, The Lotus.
i)  What is the doctrine preached in the Gita? Why does Vivekananda
call it wonderful?
i) How does the poet deal with the theme of man's estrangement from
a man-made world in Father Returning Home?
Attempt any One from the following 100 words: [6]
i)  Describe in brief'the situation of Mangal Singh.
i) Comment on the central theme of All the World's Stage?
Attempt any Three of the following; [6]
i)  Give synonyms of the following words or expressions.
a) hard
b) small
i)  Give antonyms of the following words.
a) good
b) poor
i) Form a word each by using the following prefix and suffix:
a) un b) ly.
iv) Choose the correct alternative and rewrite:

a) Rahul (has been teaching/is teaching) English
since 2003.
b) They always (lose/miss) the bus.
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P1034 [Total No. of Pages : 3

[4963] - 1019
F.Y. B.Com.
MARATHI

HTEgINeh o IUAINIA WISt

(2013 ¥e) (XgeR)
JTEYEAeh : 1) FvTATTe
2) ATERINk o IUAIRTG ALt

aw :3 ad] [ Teor 7707 : 60
gaar: 1) |d gy qisfan savasd o
2) IEThElT 37k TATA YUl T gIifaard.

g7 1) wErefiedehl wureaTdl vet famamer 500 vsgia ey forar. [10]
i) SR O e SgrET UTE
i) worer firder : v B wREW
i) nforea v TeHeRiS S, .
iv) wTEft sagthTaTede 9Ed ... (Ffera)

T3 2)  ETelteieh! SIvreaTdl g SeATen 3w gan 20 vrsgia forat. [10]
i) = ot oy aren S weft erfor wBid s ?
i) oA wavTeR et Wt e e ?
iii)  TfeTeR Feftet TroTeiairal SregTor WS Yo feramdiaret ufget erye hiur ?
IV) WA HETEAT gUITETSt ATIUT ShivTeaT STd ATATS! Uact! uTfest 319 B

TIATY WA AT STed ?

V) SraEmuErETdt B, . wvemtd ot wiord demren fafgen ?
vi) ‘o wgrEure AfHAETSt ShgeRe R TATUA theledT Hed™ AT1d i ?
vii) e TSt are ait sroteat faeumeeEht ugst ure et g ?
viii) fagamg auewte e aameda feuer T fomr?
iX) WETCATERER gRHEE TRISAT AT RI0T — HRIUE IATGT G& het 7
X) e Wit fefsrer It smrur—<hiuTeaT ugsat UTH Shedn Ted ?

P.T.O.



Xi)

xii)

2. TH. FHeThUll qiedn TTerd THAT UTeieh ShIvT—ahivTd Tohtehies saaeTa
A Fd ?
T TG hedl?

97 3)  WIelicichl hIVTEATE! wR TeAre 3w forr. [20]

)

i)

Vi)

v 4) o)

[4963] - 1019

. IR ATaga areat 125 =1 Jadt awrean [frmm ger 18 a&
AT AT ITSHATY HETIISATAITEAT TATAATT ATIST HEaTe L.
T ITSHATET T LTS AT, ATt A1 3T .

AT Nade’ TR wITETet oft forema seaa an srae=aren Rregr weft
HTURRT TTeAThS G WRUATETST 3 TelT M. 1. Riegr weft
Aftrer FreaTETdT et IR .

15 sttarerar 2015 Tl F. TULS. 7oget sheT™ Aredl SEdi=iua e
ot fo |TerT sHeuETETet 2 atieret 2015 TSt ATHEHT AT AT
ATEAT Il AT JITHAAT 3 aaR .

THEAT AT I et adi fafae @ gmeenoea gwrefoo
grgrafauaErst TR fOe et S srfarent rgum et wvama
HATAT 3MTE. IAT HSHTT TITUMTITR qaR 0.

‘¥g - AT T UG T UTA ! AITHE TRUSH WETHTTG ST Shraare
AT, HERTY IMEATSAT AT i-eh sy faummadt wrgR ffaer aew
w0,

23 Tftret 2016 TS SATUaT HEHIETedTedl It R J&aeh e
o TmegE UAuEyA AN FUaTd oad 3TE. I1 TA JSIHATETS
AIfgdiusrer dIR 0.

WA TeTdeht SHITTATE! Teht TeaTel I forat. [5]

)  “Temwre’ ot feRuTEl aduEUETETET AT a9R 6.

i) of. STaTETRE TEge WY o UTSTerr HET AT HgRTY IIrE-T=AT
WA TEIEAT e FHTd e |99 foeneatandt gynaa e
& hefl AT, a1 w9nie rageiadt WER e am &,

-2-



797 5)

[4963]

T) TWTATAdeh! HITTCATEl UTr ITwTeR G forer. [5]
1)  Ambassador
i)  Provision
i) Co-operative
Iv) Treasury
v) Pension
vi) Revenue officer
vii) Budget

WAt SUST SATIH AASa HINTAR s [10]

Gandhiji was a devote nationalist .At the same time he was internationalist
for excellence. In a letter to Dr.Julian Huxley he wrote ,"The very
right to live accrues to us only When we do the duty of citizenship of
the world". According to Gandhiji it is not nationalism that is an evil,
it is the narrowness, selfishness , exclusiveness which is the bare of
modern nations which is an evil. "Indian nationalism wants to organise
itself for the benefit and the service of humanity at large" he writes. A
country has to be free in order that it may die if necessary, for the
benefit of the world. "My idea of nationalism," observed Gandbhiji
spiritedly, " is that my Country may die so that human race may live.
There is no room for race hatred there".
e
WA SATATA Teh AT ARIIAER e T8 THUS JiHe 1.

TMESNHENIS ¢ g THTTHURE T gie el SINgT STUNEgT, e , HHSE,
WU A — UTd & S0 ATHE Tg TeAedT THIATAT =1 el AR gRAferat.
T hes WINUTETSIT Shedfl ATl A=Al graTdiel WHIeT ¢ i |red g,
AT TeTes a&edl d T e Hid. Al ATHHET S 6ol 1%
TUITY HEE A AT ATATIA . T Teb T, ST AT
T SATHET ATE, § T ATRMAT Ueiae!. AATaei Tu SRviEd SHad =t
STHITTSAT, TIMBT, UTSIITAT TTETedT & TilehigdTe! i Shedl, TTeaT—TIsTereare
Tt g @t fagavad A, darast T 99 Suga |rdter Tt e
T Taa: ATST el ATEl. AT ST SATTeeh STagR AIHTESUTE WIH
et Taes ermTaT ITAT MEAETET ¥ UH gAY Bid. (IegEwan 111)

BB K
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Total No. of Questions : 4] SEAT No.

P1035

[Total No. of Pages : 3

[4963] - 1020

F. Y. B. Com.

&t (Hindi)

Jerfeues (Additional)
(2013 de)
UteagEdeh 1) T uies
HUTgeh — S HTY qeTeht
2) YT URHA -
HUTgeh — S HTT qeTeh
BT At |

T 3 @ [ gories : 60

g -

1) @4t gv7 sifdard &1
2) afEt o fora@ si WA @ guites §l

97 1)

797 2)

fFrafeRea & & foeedi = woat & s @em § fofam: [15]

i)  FFEar 3R AT T YA UTS W @ o AR A hl Trdafaeh G&
gl foerar 37

i) aTen AR A T STEqae Y TEETet F = w o ?

jii) ‘ugell Ik UTe W T ¥ Ugel! Tk hid — AT g2

iv) wemE wer ® fuba smemd St &% afta @ wse fifu)

v) afyaes i 1 SO A€ = @HiEAT aTgar o ?

TFrafeRaa & @ foredl i w9t o S @em ° fofau: [15]

) Al GUETHEN wigE 3 U Sa wiadr o WTeaw ¥ &9 — |1 HI9
e g

ii)  ‘“omefaT wa R wwferan & w@ew @ wrened ferfam)

iii) ‘geran’ wiaar ¥ fabm e & wee wikm)

iv) fa Tehra sffameaa 3 Tt A TS AT AT ATIVAR THET 7P

V) ‘ugsar wfadr s wrand e i)



gy73) 1) TrafaRaa 4 @ fret e sraawor 6 wwey saren fifu: [5]
) AT uTE e g Tatell Ig ST hid ¢ ? el Al g ? Ig el

el ¢ 7 39 w0 W ferar w27
i) “emfrimMa s TR LRI ... A @R fava & 217
ar) fFafefaa @ @ Rt ueh e i woey s fifmu: [5]
i) “a nfy - urfa iR wga i faw

IYATG, FATE HR Far &
T U3 ¢, ¥d oot 3¢ TR
gegd |, et W Tt |weft g e
i) “‘softe R am 2 Siaa & a1 g
ATRTIHET o &g WY ST 7 BIfSTI
T °Td T HE 9Tt ot g, grEat o g
3 R & o gien 7 sitgul’”’
3) TmfeRea # & fohedl 9T T9HT o ST T — T a1 | farae:  [5]
) ugs Sfea 6 aweran e g7
ii) ‘ofien’ wEH % HEHIHR BT B?
iii) aftenfires &= o wionramd ford whgt T 27
iv) ‘erfioy’ et ki TH@ Ut T AR Farsu|
V) ‘g’ wiaar % wia & 37
vi) ‘e gg Torweht Mg | TeRel ?
vii) wet S uge foree gt 27
viii) atme i W T & foru ToReeht strarvashar gt 87

[4963] - 1020 2



g7 4) )

3)

[4963] - 1020

Frafafaa & o fmdi ute vsgt & & urfanfyes vreg forfRau: [5]
1) Act-

i) Branch-

i) Discount -

iv) File -

v) Job-

vi) Marketing -

vii) Penalty -

viii) Unit -

Freafafaa 4 & et ve fogmue = seds Fan @omr dikm: 5]
) O EE W RN s |

i) wUST & A HT AThvh faFTOA|

FrafaRaa ufieae o1 v fogs & arees (g i) [5]

foreft oft el & wwReTaT T W % fotu e @ g HeRew T wTE B
TEATHT 3R AT oh ATATARUT H ShiTdeh Nl Tehe g Tagig o1 forTer ot o
2 ? g Tfeat TR 3 HIR SR i ITeT ST W S9T I ATATE HA
T HTE hE Y UTT HERTOMT TAT9 ? Tg i A1 I o7 R[ieeh 1am @
HETeHT el ST okl <91 o STl oY ®eh ¢ ve 8t I8 |7 ! gaerdan|
T hl "aTdT & o0 ged, =/ 3R HedTuT ok 319 T gHT W& 2
o v @ v Y vt AE, S S, % uer ¥ g ) g e
AT SR ST 7 < § TR A3aT g1 3ok 01 § Teh U1 galT AR
THAT g, S 38 wH TH TG g qan

W R



Total No. of Questions : 5] SEAT No. :

P1036 [Total No. of Pages : 2
[4963] - 1021

F.Y.B.Com. (Regular)

GUJARATI
(2013 Pattern)
Time :3 Hours] [Max. Marks :80
w.4) fA4id]l A5 wa AAs [Quy uz Moy avi) [1¢]

(1) A weuy
- A
?) ab ey WAL OH A
(3) 1guea oL
() et wd Quduas
W) 46 um s wsl AR bR ol [1€]
(1) ;,2\‘1%(\ QT o] 2037l folceng_ s,

2 Q_ )
| R 122% o\ cnetT ety QAW o]yl
%.3) A6 wa ¥s dsedl AR G @l [1€]

(1) 23 o\ @rRuc e }i%ﬂ-k“lo-\ ol cletadie
{

ey oft SRt ol W ane] oy % elieteoy adal)
nY) (o) éotle cul @ (A5 un =g [o¢] T
(1) B8\ el @iy oad o Wy,
() o Ul G Avle gt

PTO.



(o) sl cvd @ (A6 ua #1s) [o¢]
(1) E2e of\ S 2hal eyl Braac.

R cnfoll Buieh @t suef) el
ww) (1) yaluz woiy avil @ (2 v - Ay L) [o¢]

(@ He) s\ wnl, c SN
Al & oiflal ol 2l 28GY s

()

)a.:zc-(\ S =15 &.ﬁﬂ% T oidensl gl

(¥) ol ol Séafl of\ &bﬁaﬁzﬁ\ﬁ—\

() VEAiMa . fo¢]
IR (B ewﬁe\oi 03, 314 U UnHAAT wrletul)

0) QUM Al [o¢]

AR &"\\{}y M zﬁa{&a FRUAUQ DG
amfre  clene_ &,

R R
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Total No. of Questions : 4] SEAT No.

P1037 [Total No. of Pages :4
[4963] - 1022

F.Y.B. Com.
SINDHI (Arabic and Devnagri)
(2013 Pattern)

Time :3 Hours] [Max. Marks :60

2 phe osis BY s y@w el
cyooL*m e,DLD@ jJJ /‘L\v/-*“ Ué‘/&f P

¢ do2e I Lie, e %Sl o ol P

F 0 ey of Jho fbe

s Bl § o=
im0 ES sonlar gfﬁg:a/g Ge <
('(;3_«:) L/dj_-\ < .
AR d :,/—‘ILS £ wo we /o‘/éw N
e &(l.,o 5 (_).b‘/j_}/ ;U\_’?/ _Swt_o‘/_g 9
(;3_).5 L_b L.S_)._L\;
?Ugf_\ '___9,\ P9< 35 QSDLN Ls‘—b SU}JJ-’ -'O
/Sﬁyb gmfb e L«.\’é/ 5&,3\3_33_9 d‘/w\ Vi
f50 537 £ phobus S JmS LN gajq ‘_ﬁ\ Yode VP

—

e S5t Vas i auln -0
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[22) ¢

e Bl S0 o o ] Sk s |
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535 AR s e AGL p

Yoz by J e ngh we fiy) e

Ys—ﬁ CuS

hY] (¥
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Total No. of Questions : 4]

[4963] - 1022
F.Y.B. Com.
SINDHI (Arabic and Devnagri)
(2013 Pattern)

Time :3 Hours] [Max. Marks :60

HaTer | TS w foma 13 SEA Raeh or ciad |

| AN (22]

| IR IR TR IG5 aRny LI 7
> ﬁ%ﬁw A T G e =77
RSN 7 ot frerer ate w e
Vit rater ard ﬂ*éﬂ?ﬁ%‘??
b an s ST @ Brer o ate 3
ShIESt qror =t 7

/ &{uﬂm%

-

- RgAT SR E A
Ty ohlesT wfeom 1Sar? S
6. TITRET ot a7 I & W3 3R

hn JT01 =T <
Lo

o

7. e 23 2 TIngnt 1207 a1F]
| e IR T ? |
8. Praohd vt e vl hlEst sreaneg €f 7
9.




gl
3

[4963] -

Wn—%ﬁ fat gt} o o
A - 0o)
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=)

€§}73533%5'?%'iH31evﬁaeft
7}17?%2{@?6@% 3T Ao T eften, G
2T QS |

3. TITIT 33T W HiEs SREIEETvaY
%ﬁ?ﬁyﬁw

2.

%ﬁnﬂwﬁmﬂ@?wmmﬁan
I % irqawm A T mm—om

2. s vt frradoet sy
3 Sidfteg vt I T & @
JHOhT n &) TTET ¢

4. FE ot aole FHAAT W IW SRRy

\87%_377%'3?75’57& 13 2o er  Foga g

1 et ATl ST ATHA (ic]
o rTeT 3 HRA o Tt

3 "tTETS% 3?“‘3ﬂﬁﬁtfﬁ“;§ﬁr

e ST ShTe e $29R vt STEmT e e P
. ™~

L. wqmi}ﬁﬂ‘mﬂwnmwtﬂ*ﬁm.
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Total No. of Questions : 5] SEAT No. :

P1038 [Total No. of Pages :2
[4963] - 1023

F.Y.B. Com.
URDU
Urdu General (Paper - I)
(2013 Pattern)
A - Bang -e- Dara Part -1
B - Mazameen -e- Mujtaba Hussain

Time : 3 Hours] [Max. Marks :80

P .-} . ~ w
Bsy - :ei.www@m NN
- .%,dbé@\)) UL“j d/ia)gf‘\:
5[14:] - ng SOk (Lot Lol 921 l((}-—*(}ff 2ol
{_15_'] Aibeu/L,Ma)//y;quMaﬁ ——!-'df'

- z‘fuﬁbljau;{'l (z/o O 01 22

407 Lo o Teys (nfiedye
| @,&3"3@) ol
L./ J’) 2

| ) A2 TN ubﬂ -3
[i oj"éut{/@‘f "GWU“Q—/‘L‘#—I/ Daa# )—-/U'")")JJE/ )

’:._/
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Total No. of Questions : 5] SEAT No. :

P1039 [Total No. of Pages :3
[4963] - 1024

F.Y.B. Com.
PERSIAN GENERAL PAPER - 1
(2013 Pattern)

Time :3 Hours] [Max. Marks :80
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

@J)ﬂ; Defone anmd 9HysTzale any Sve 07[’7%,_ A,//OWJ‘A?_ [0

2

QE: Define any  froe of -he —ﬂ]//awr% Y

J}”f* o o et (¥ ’/U cv) SEtoocw
QBLA)J REPWJL(CQ }V‘J yaur Owh UJOR?XS 079 am/ o ne. GF

~—
[« ]

“the »ﬁallowwgd o P
=L
d)) (/’/W () S Lo (V) o+t . ¢
(B> wovife any two of  he —Fo”aw;‘mé. )2
Skefeh of Saadi Shirazs

viewssS o»f’ tUmar Lhayyaw]_

w

o LE-fe
27 write Jhe

@ Nifevery werk of Jyaj M™Mivza.
(4>  peefic  Arf of Behav.

@LI: E xplaciv Ay 72;\/3 CUuFl'a»fs of Ahe —Fcllawrlng i

Zh-al.‘sh, Urelu , Mlavadui, PLrsiovn, P g
oS S J//df/ o
Q’//(}b////(,/_,uu,
o> (lf/ o > > & o;/ )
B ’, N {;;_,:[ = ) 2 /
. AD /(/’ P
P ( o )/;;J;f:/p)/) ‘_/J//,y(jl@z)

‘f‘w‘]/-’r*‘“’//’dl.f(w
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Total No. of Questions : 5] SEAT No. :

P1040 [Total No. of Pages :4
[4963] - 1025

F.Y.B. Com.
FRENCH
(2013 Pattern)

Time :2 Hours] [Max. Marks :60

Instructions to the candidates:
1) All questions are compulsory.

2)  Use of dictionary is not allowed.

Q.1. Complétez un dialogue (10)
A. Mme Janine Delorme arrive a I'hdtel ‘Baucuse’. Elle a une chambre réservée. Elle a la
chambre 300 au troisiéme étage. Complétez le dialogue.

Mme Delorme : Bonjour, monsieur. J’ai une chambre réservée ici.

Le réceptionniste

Mme Delorme : Au nom de Mme Delorme.

Le réceptionniste :

Mme Delorme Elle est & quel étage ?

Le réceptionniste : Voici les clés .

Mme Delorme : Merci. C'est ol ?

Le réceptionniste ; . Montez au troisi¢éme étage. La chambre
est juste en face de I'ascenseur.

Mme Delorme : D’accord. Et le restaurant, ¢’est ol ?

Le réceptionniste : . En face des escaliers.

ou

B. M. Henri Cousteau va au restaurant ‘Régionax’ avec une collégue, Ils demande deux
couverts. [1s commande la salade * Césare’ comme entrée et le poulet rdti comme plat principal.
Comme dessert, ils prennent une salade de fruits frais. Avec le repas, ils prennent du vin de
Bourgogne et une bouteille d’eau minérale.

M. Cousteau : Bonjour monsieur. J’ai une réservation.
Le réceptionniste :
M. Cousteau : M. Ferreira.

PTO.



Le réceptionniste : 9

M. Cousteau : Oui, merci... Vous avez la carte, s’il vous plait 2.

Le réceptionniste : ' ?
M. Cousteau : Qui. Nous allons prendre la salade ‘Césare’ & poulet mariné.
Le réceptionniste :

M. Cousteau : Du poulet roti avec du riz a [’espagnol.

Le réceptionniste:

M. Cousteau: De la salade de fruits frais. Et comme boisson, deux verres de bourgogne
et une bouteille d’eau minérale, s’il vous plait.

Q.3. Grammaire et vocabulaire

A. Mettez au pluriel : Q)
1. Il arrive a Paris.

2. La cliente remercie le directeur.

B. Soulignez I’objet direct : 4)
1, Ils aiment les cadeaux.

2. Vous visitez Rome.

3. Nous prenons le train.

4, Nous avons acheté ces bottes.

C. Complétez avec des prépositions )
1. quel type d’entreprise travaitlez-vous ?
2.1lya beaucoup de TPE France.

E. Choisissez la bonne réponse : 2)
1. C’est toujours le salaire net/brut qui est indiqué sur les offres d’emploi.
2. Un grand groupe peut/pouvons avoir des filiales.

F. Dites vrai ou faux : (3)
1. Le SMIC, c’est le salaire minimum en France.

2. Un avocat, ¢’est une profession libérale.

3. Les employés peuvent prendre leurs repas a la cantine du bureau.

G. Complétez avec des mots donnés : (table, art, manger, sur) @)
En France, la cuisine est un et les Frangais aiment d’excellents plats bien
Présentés, accompagnés de bons vins et servis une jolie
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H. Mettez les verbes entre parenthéses au temps indiqué : 4)
1. Diane (prendre — passé composé) I’avion le 16 décembre.
2. Le directeur général (gérer - présent) ensemble des activités de I’entreprise.
3 Ladirectrice (finir - futur) son travail,
4. Le réceptionniste (faire — futur proche) les réservations.

K. Reliez les denx colonnes )
A ‘ B.

1. Une agence de a) Le boucher.

2. PME b) Titre de voyage.

3. Une boucherie ¢ Petites et moyennes entreprises.

4. Le billet d) voyage.

Q4. A. Ecrivez en forme de paragraphe (5)

Voici 'organigramme de ’entreprise NOFISA.

Directeur Commercial - M. Gerard Marchandeau

Assistante ~ Pierre Beauchais

Responsable des esponsapie Responsable de
|I

ventes - Eric Gomez marketting- Nadine 'administratioq des
Haba ventes - Paul Pinet

8 attach-es 4 chefs de produits 4 assistantes
commerciaux

ou
B. Décrivez le processus de fabrication du jus de pomme.
1. Presser les pommes.
2. Mélanger le jus concentré avec du sucre et de ’eau,
3. Nettoyer les bouteilles dans une machine spéciale.
4. Mettre le jus dans les bouteilles.
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5. Mettre les bouteilles dans des cartons pour envoyer chez des distributeurs.
Q.5. A, Traduisez en anglais: (8)

Les salariés frangais sont priés de respecter les horaires de travail et les dates de congés
payés que la direction fixe. Il est interdit de modifier ces horaires et ces dates sans accord de la
Direction.

En cas d’absence, le salarié doit informer son responsable hiérarchique. Un certificat
médical est obligatoire en cas de maladie ou d’accident.

B. Traduisez en frangais: (5 au choix) | (10)
|. The personnel must respect the security instructions.

2. First, one mixes the vegetable oil.

3. She is a very professional.

4. My mother ordered shoes on this site.

5. These chocolates a made of green tea.

6. Do you want something else?

Q. 6. Compréhension
Les espadrilles sont des chaussures d’origine basque, une région au sud-ouest de la
France. Nés en 1890, ces chaussures sont aujourd’hui de nouveau a la mode parce que deux
amis, Mathieu Labat et Julien Maisonnave, 4gés de 36 et 37 ans, ont eu I’idée de créer des
modeéles modernes.
A. Dites vrai ou faux : 4)
Les espadrilles ont d’origine basque.
La région basque se trouve au sud-est de la France.
Les espadrilles sont des chaussures.
Deux amis ont eu I'idée de créer des modéles modernes.

= -

B. Donnez le contraire : nouveau, sud (D

R R
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Total No. of Questions : 4] SEAT No.

P1041 [Total No. of Pages : 4
[4963] - 1026

F.Y. B.Com.
GERMAN (Basic)
(2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) 10 Marks are for Reading Comprehension and 10 Marks for Oral
Exam.

Frage 1. Beantworten Sie die folgenden Fragen! (Nur 10) {10]
1. Was haben Sie am Wochenende gemacht?
2. Welche Sprachen konnen Sie?
3. Haben Sie ein Haus oder eine Wohnung? Wie viele Zimmer hat es oder sie?
4 Wie alt ist Thre Mutter?
5. TIhre Freundin hat Hochzeit. Was wiinschen Sie ihr?
6. Seit wann lernen Sie Deutsch?
7. Wohin reisen Sie gern in den Ferien?
8. Istihr Vater Ingenieuer von Beruf?
9. Was machen Sie am Sonntag?
10. Was darf man im Krankenhaus nicht machen?
11. Haben Sie Haustiere? Welche?
12. Wo steht das Sofa in Threm Haus?

Frage 1. Ubersetzen Sie! [10]
(A) Ubersetzen Sie ins Englische! (03)

Thaisong Thien, 27, ist Kunststudent und ledig. Er wohnt und studiert in Berlin. Wie
verdient er Geld? Er zeichnet Touristen. Das kann er sehr schnell. Sein Rekord:
Sechs Gesichter in zwei Minuten. Trotzdem sind die Zeichnungen gut und die
Touristen sind immer zufrieden.

(B) Ubersetzen Sie ins Englische! (03)
Nach dem Einkaufen gehen sie direkt zum Bahnhof, denn sie miissen Michael vom
Bahnhof abholen. Am nichsten Nachmittag nach dem Kaffee und Kuchen gibt es ein
Fest. Es gibt Geschenke fiir alle. Von seinen GroBeltern bekommt Michael eine
Flugreise nach Indien.

P.T.O.



(C) Ubersetzen Sie ins Deutsche! (Nur 4)
He i1s a hairdresser by profession.
Claudia likes to read.

We have bought four lamps.

I have a brother and a sister.

A e

The children sing very well,

6. Mr. Meier, will you visit us tomorrow?

Frage L. Grammatik!
A. Ergiinzen Sie die Personalpronomen! (Nur 4)

Das Bett st unbequem. Ich kaufe nicht.
Die Tische sind gut. mochte ich haben.
Der Stuhl ist zu gro. Wir brauchen nicht.

Das sind Herr und Frau Becker. Ich besuche nachste Woche.

b o

Liebe Kollegen, habt heute frei?
6. Haben morgen Zeit, Herr Dietze?

B. Ergiinzen Sie die Possessivpronomen! (Nur 4)

1. Wir kommen aus Pune, Stadt ist sehr schon.
2. Das ist Peter. Haus liegt dem Hotel gegeniiber.
3. Meine Oma singt gern. Das ist Klavier.

4. Wann ist denn Hochzeit, Marit und Mario?

3. Herr Beier, wo ist Handy?

6. Hey, Martha. Wie heiBt Hund?

C.. Ergiinzen Sie richtige bestimmte oder unbestimmte Artikeln! (Nur 4)

l. Ichbrauche  Hammer. Nagel habe ich schon.
2. ZuHausehabeich  Schreibtisch.
3. Herr Bergmann geht durch _ Wald spazieren.
4. ___ Madchen heifit Laura. Sie ist 12 Jahre alt.
5. Touristen winken.

D. Schreiben Sie das richtige Modalverb! (Nur 4)
1 du um 20 Uhr zu mir kommen?

2. Das ist ein Museum. Hier man nicht fotografieren.
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. Ihr seid Studenten. Ihr viel lesen und schreiben.

. Guten Tag Herr und Frau Noll! Was Sie essen?
. Ralf *__nicht zur Schule gehen. Er ist krank.
E. Erginzen Sie die richtige Priposition! (Nur 4) (04)

3
4. Dein Bein tut weh? Dann du zum Arzt gehen.
§
6

1. Der Tischliegt  zwei Stithien.

2. Der Girtner arbeitet  dem Garten.

3. __ dieEcke fihrt ein Junge mit dem Fahrrad,

4. Die Leute sprechen _ die Politiker.

5. Die Busse fahren den Fluss

6. Tobiasarbeitet  Audi.

F. Schreiben Sie die folgenden Sitze im Perfekt! (Nur 4) (04)

. Ich trinke zwei Flaschen Bier.
. Dann rauchen wir zwei Zigaretten.

. Mit dem Auto fahren meine Freundin und ich schnell nach Hause.

!

2

3

4. Meine Eltern sind in Berlin,

5. Meine Oma sieht jeden Tag zwei Stunden fern,
6.

Ich studiere Philosophie an der Universitat.
G. Schreiben Sie das richtige Verb! (Nur 4) (03)

(finden, aufraumen, zumachen, nehmen, aussteigen, anrufen, besuchen)

1 du btite das Fenster

2. Bernd Mébel nicht so wichtig.
3. Bertha den Anzug aus dem Schrank.
4 Sie mich am Sonntag 7
5. Sein Zimmer er nie
H. Bilden Sie Fragen! (Nur 3) (03)

Ich besuche meine Eltern am Montag
Rafael hingt ein Bild an die Wand.
Ich mochte gern einen Kaffee trinken.

..b.(.a)l\_);-—

Der Film ,,Goodbye Lenin“ dauert 2 Stunden.
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Frage IV, Wortschatz und Schreiben! (04)
A. Schreiben Sie die Gegenteile! (02)

1.
2

zumachen X

einschlafen X

B. Was passt? {02)

(A)

(B)

1. Kaffee : trinnken / Suppe :
2. Emn Buch : aufmachen / einen Computer -
3

4. Hausaufgabe : die / Tisch :

singen : laut / fahren:

Schreiben Sie eine Ansichtskarte und einen Zettel/ eine SMS!
Sie sind auf einer Reise in Goa. Schreiben Sie eine Ansichtskarte an Thren (04)

Freund/ Ihre Freundin! lhr Freund/Thre Freundin wohnt in Franfurt am Main.

Schreiben Sie einen Zettel ODER eine SMS fiir Ursula. Sie mochte mit fhnen (02)
ins Restaurant gehen. Heute Abend haben Sie keine Zeit. Passt €S morgen um
18.00 Uhr?

B’ &K
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Total No. of Questions : 5] SEAT No.

P1042 [Total No. of Pages : 3

[4963] - 1027

F. Y. B. Com.
SANSKRIT

Amarabharati” (THRYRdT)
(2013 Pattern) (Regular)
Time : 3 Hours] [Max. Marks : 60

Instructions :-= 1) All questions are compulsory.

gear: - ad TvT SfHard TEa.
2) Figures to the right indicate full marks.
ISR EIeT 37ah YUl 10T FTfadrd.

Q1) Translate into English or Marathi any one from Section 'A' and any one
from Section 'B'. [12]

‘o’ faumdter wIvTeaTE TR @ ‘9 faunTdier smureTd vehrer Susita e
TS | .
SECTION - A (fawmr - &)
) T- (WEdw) "o erdted ght
T T arfer: | de 2
T A YW Tl TgHn afggerat
e fafes— wafd waaumEa aql
ThedT Ageh AgU A TaE-
F 7 R Ferferceromfu 7 ured tersem)|
gd, UvaH ATy (3 IRAU ATeatdl)

i) wumedr daugan Rfufyeatatesarot: | ToenHa: gaviHifersEasi:
AT YR haef et JEaATARGTacGIaTaeT(H: Foniear- | SHTaehTer
Hard giaye, TEge A dIIaa-siaaa e, T TMEaaTeaeTaIi:
TR UTEIAATehTEIsha: | At e a e meareem| 7 auid 1894
T hENUA Tdd |
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SECTION - B (fawmr - =)

) oq: dred el AYeTTE g
FITT IV ATUT: gy TSTeHT FFwent: |
I ARIEE: AhAYad sTHadrd
foranfafly: = wafa wgar Ao

i) W g fafas o= atad gewuw|
qaTY YEESATY TR e Ha | |
TageRd: | ATt St et |
EE: wg faee @ Aematgsham| |

Q2) Explain with reference to context any one from Section 'A' and any one

from Section 'B’. [12]
‘a1’ TR T SRIUTeaTE UehTe! AATTUT ‘& T WTTTdieT ShiIvTeITEl UehTel THEeY TISteRiuT
H.

SECTION - A (Rwmr - a1)
) emied eAfEt fefea: wimd: oy wr: |
i) fheamame wegTs:)

SECTION - B (fawmr - =)

)  Ted UUTEEATANG: UTg 9 HwrEg: |
i)  gameiu ATt sifa: aeswn fafgar fifa:)

Q3) Critically appreciate the lesson ‘quarsrmesiaa e gmg’. [12]
‘quaTHTEStAA STTeRi gHHE A Uttt Fafehcds g .
OR/feram
‘Write the summary of the lesson “wrorerreea:’ |
“ToTSTTeEa:’ | At uTeTen dwiw fore.
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Q4)  Write the summary of the lesson. ‘@& @ eiwasn mmar:’ [12]
‘¥ q e AT’ A areTen |t ot
OR/ .feran

Critically appreciate the lesson “Rreitera: feasmaie:’|
‘NeTera: Teawaia:’ | an areTel fafeheash g &

Q5)  Write short notes of the following (any two): [12]
WTATCTh! ShIVTCATET GIEIaR ATt SuT feTat.
i) wgfomrguft
i) wrferera:
iii) Character sketch of Sabari vt =afrean
®BER
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Total No. of Questions : 5] SEAT No. :

P1043 [Total No. of Pages :5
[4963] - 1028

F.Y.B.Com.
ARABIC - Gen - 1
(2013 Pattern)

Time :3 Hours] [Max. Marks :80
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Total No. of Questions :5] SEAT No. :

P1044 [Total No. of Pages : 4
[4963] - 1029

F.Y. B.Com.
FOUNDATION COURSE (Restructuring)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Whatare the causes of low productivity of Indian agriculture? Suggest measures
to increase the agricultural productivity. [16]

02) What is Economic Inequality? What are the causes of Economic Inequality in
India. [16]

OR

Explain the effects of science and technology on Rural Development,
Employment and Education.

03) a) What is Culture ? What are the characteristics of Indian Culture?  [8]
b) What are the causes of unemployment in India. [8]
OR
a) Whatis Science ? What are the characteristics of Science?

b)  What is Decision Making? Explain the process of Decision Making.

04) Explain the concept of Liberty, Equality and Fraternity. [16]

PTO.



05) Write note on the following;: [16]
a) Privatization
b) Importance of Time Management
c) Religious values

d) Planning of life at various stages

W R
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Total No. of Questions : 5]

P1044
[4963] - 1029
F.Y. B.Com.
T SAYATHRA ()
(2013 Pattern)
(TSt Baiar)
do. 3 a1 | [ zggor 7072 80

gaar - 1) &d 97 QISav Sravqe e,
2)  FATEAT ITEET FIGCH -7 FIATR T FIAA ST
3) @ewrarst sut TeT gl ugral.
gy 1) AR Jidiean wH IcuTgehd el SOl hIUTHT ? W< ScaTaehdl aTa [QuaTdTat
IUTT gl [16]

gy 2) ‘eniden fowwar Ul w1 ? WRATde eiden fowwast ROl wiurdt? [16]
feRan
o foreRtE, TR & e arer figm= 9 aaE Siteel aiRuTE Y @6 .

97 3) ) ‘GERAl TEUN I ? AR TR afdrer wiordl ? [8]
¥) WRATATS SNSRI HROT R0 ? [8]
femar

1) ‘famm’ rgur @@ ? fammTEn Sfvre ST ?
q) ‘FuiE g TguS % ? ot gueTet gihar w9 w.

97 4) ‘TEmaA’, WHAT @ WA AT Weheddl TAY . [16]



gy 5) feur fergn. (wroretdt &) [16]
) TSRO
) TS HAEATIAT Hged
®) ek god
g) Siaare fafay wede Faee

W R
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Total No. of Questions : 4] SEAT No.

P1045 [Total No. of Pages : 2
[4963] - 1030
F.Y. B.Com. (Vocational Course)
COMPUTER APPLICATIONS - |
(2013 Pattern) (Theory)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1) Draw a neat - labeled diagram wherever necessary.

2) Figures to the right indicate full marks.

Q1) Answer the following:(Any Five) [10]
a) Desktop
b) BCD
c) Mainframe Computers
d) DVD
e) Barcode Reader
f) Icons

g) Hexadecimal Number System

Q2) Answer the following :(Any two) [10]
a) Differentiate between RAM and ROM.
b) What is Output device? Explain any TWO devices.
c) Explain:
) e-mail
i)  Search Engine

Q3) Solve the following: [15]

a) Convert from Decimal to Binary:
(97),,=(10010111),

b) Convert from Octal to Binary:
(154), = (1101100),

c) Binary Addition:
1010101+10101

d) Binary Subtraction:
1111-101

e) Convert from Binary to Octal
(101101), = (),

P.T.O.



Q4) Answer the following: [5]
What is Operating System ? Explain types of Operating System.
OR
What is MS-EXCEL? What are the features of MS-EXCEL?

*® B M
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Total No. of Questions : 3] SEAT No. :

P1046 [Total No. of Pages :1
[4963] - 1031

EF.Y. B.Com. (Vocational)
ADVERTISING SALES PROMOTION AND SALES
MANAGEMENT
Marketing Communication (Paper - I)

(2013 Pattern)

Time :2 Hours] [Max. Marks :40
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is marketing? Explain the Concept and Nature of Communication. [12]

OR
Explain the Approaches to the marketing.

02) What is Marketing Communication? Explain the types of Communication.[12]

OR
Describe the various means of communication.

03) Write a short notes on (Any Two) [16]
a)  Virtual Marketing
b) Barriers to communication
c) Relationship Marketing
d) Elements of communication Process
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Total No. of Questions : 4] SEAT No. :

P1047 [Total No. of Pages : 2
[4963]-1032
F.Y. B.Com. (Vocational)
TAX PROCEDURE AND PRACTICES
Indian Tax System & Income Tax
(2013 Pattern) (Paper - I)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicates full marks.
Q1) Answer in 20 words each. (any five): [10]
a) Define ‘Assessee’ u/s 2(7) of I.T. Act, 1961.
b)  Which are the various heads of Income?
c) Write down any four examples of Indirect Taxes.
d) Explain Article 265 of constitution of India.
e) Define Direct Taxes and Indirect Taxes.
f)  Define ‘Assessment Year’ & ‘Previous Year’.
g)  Write Down long forms of -
i) CBDT i) CBEC
02) Answer in 50 words each. (any two): [8]
a)  What are the advantages of Direct Taxes?
b) What is the meaning to ‘Income’ u/s 2(24) of I.T. Act, 1961?
c) Write Note on ‘Residential Status of a Company’.
d) Explain Article 246 of constitution of India.
03) Answer in 150 words each. (any two): [10]
a)  Write down Canone of Taxation advocated by Adam Smith.
b) Explain Article 280 i.e. finance commission of constitution of India.
c) State any ten exempted incomes u/s 10 of Income Tax Act, 1961.
d) What is the meaning of ‘Consolidated fund of India’ and ‘Consolidated

fund of the state’.

PTO.



04) Answer in 500 words: [12]
a)  Explain in details various Direct and Indirect Taxes of the state Government.
OR

b) Mr. A an employee of XYZ Pvt. Ltd furnishing his details of income as
follows:

i)  Basic Salary Rs. 55000/- per month.
i)  Dearness allowance Rs. 25000/- per month.
i) Commission Received by him Rs. 8000/- p.m.

iv) Education allowance for his children Rs. 300/- per month per child
for 2 children.

v)  Transport allowance received by him Rs. 1200/- p.m.
vi) Employers contribution to provident fund is 15% of basic salary.

vii) House, Rent Allowance Received by him Rs. 15000/- per month.
Rent paid by him Rs. 10000/- per month.

viii) Professional Tax Rs. 2500/- per annum. Compute the taxable salary
of Mr. A.
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F.Y. B.Com. (Vocational)
COMPUTER APPLICATIONS

(2013 Pattern) (Paper - II)
Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following. (Any Five): [20]
a) Define Array. Explain types of Array.
b) Explain getchar () and putchar () functions.
c) Whatis variable? State the rules for defining variable name.
d) Explain Logical operators in C.
e) Explain while loop in C with syntax and example.
f)  List various types of programming languages.
g) What is pointer?

Q2) Write a program to solve following. (Any Two): [10]
a)  Write a program to calculate factorial of given number.
b)  Write a program to calculate the sum of first n even number.
c) Write a program to calculate sum of digits of a given number.

03) Find the output. (Any Two): [10]
a) #include <stdio.h>

void main ()

{
int marks[50], 1;
for(i=0,1<=48;i++)
{
marks[i]=i;
printf(“in%d”,marksJ[i]);
!

}

PTO.



b) #include <stdio.h>
void main ()
{
char str[10];
printf(“Enter any string:”);
Scanf(“%s”, & str);
printf(“String contains : %d characters.”, strlen(str));
}
c) #include <stdio.h>
void main ()
{
int a=10, b=11;
int c;
c=(a<b)?a:b
printf(“%d”,c);
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F.Y. B.Com. (Vocational)

ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT

Advertising

(2013 Pattern) (Paper - II)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) What is advertising? Explain the Scope of advertising. [12]
OR

Explain the advantages of advertising to society and Limitations of advertising.

02) Explain the difference between commercial and non commercial Advertising.
[12]

OR

Describe the Nature and Role of International Advertising.

03) Write short notes on. (Any Two): [16]
a) FElements of Advertising.
b) Functions of advertising.
c) Institutional advertising.

d) Types of advertising objectives.
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F.Y. B.Com. (Vocational)
TAX PROCEDURE AND PRACTICES
State Sales Tax and CST Act
(2013 Pattern) (Paper - II)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
Q1) Answer in 20 words each. (any five): [10]
a) Define the term ‘Tax Free Goods’ and ‘Taxable goods’ under M.VAT
Act 2002.
b) What is mean by schedule under M. VAT Act?
c) What is mean by ‘Crossing Customs Frontiers’?
d) What are the types of ‘Registration’ provided under C.S.T. Act?
e) Which sales are not liable for tax under CST Act?
f)  What is the basic exemptions of turnover’s under M.VAT Act and CST
Act?
g) Enumerate any two advantages of VAT?
02) Answer in 50 words each. (any two): [8]
a) Explain the essentials of sale under M.VAT Act 2002?
b) Enumerate sales tax Authorities under M.VAT Act and C.S.T. Act?
c) What is use of ‘C’ form and ‘F’ form under CST Act?
d) Explain the liability for ‘Registration’ under C.S.T. Act.

PT.O.



03) Answer in 150 words each. (any two): [10]

a) What are the advantages of ‘Registration’ under M.VAT Act and under
C.S.T. Act?

b) What is mean by ‘Tax Invoice’? What are the contents of ‘Tax Invoice’?

c) When a sale is said to take place in the course of inter state trade and
commerce under C.S.T. Act?

d) Discuss the constitutional validity of central sales Tax Act?

e) What is mean by ‘Declared Goods’? What are the restrictions put on
states for taxing declared goods?

04) Write long answer. (any one): [12]

a) What is mean by ‘Return’? Discuss the provisions for submission of
returns under M.VAT Act?

b) Who? And When? is required to get registered under C.S. T Act? Discuss

provisions for Registration under C.S.T. Act?
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